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1. Find	the	volume	of	the	given	object	if	each	individual	cube	is	1	cu.cm

(i) 6	cu.cm (ii) 4	cu.cm (iii) 8	cu.cm (iv) 7	cu.cm (v) 5	cu.cm

2. If	the	length,	breadth	and	height	of	a	cuboid	are	19.00	cm,	9.00	cm	and	10.00	cm	respectively,	its	volume	is

(i) 1710.00	cu.cm (ii) 1640.00	cu.cm (iii) 1840.00	cu.cm (iv) 1570.00	cu.cm (v) 1730.00	cu.cm

3. Find	the	volume	of	the	given	object	if	each	individual	cube	is	1	cu.cm

(i) 14	cu.cm (ii) 13	cu.cm (iii) 11	cu.cm (iv) 10	cu.cm (v) 12	cu.cm

4. If	the	volume	of	a	cube	is	6859.00	cu.cm,	its	L.S.A	is

(i) 1594.00	sq.cm (ii) 1304.00	sq.cm (iii) 1444.00	sq.cm (iv) 1624.00	sq.cm (v) 1414.00	sq.cm



5. If	the	length,	breadth	and	volume	of	a	cuboid	are	14.00	cm,	13.00	cm	and	3458.00	cu.cm	respectively,	its	L.S.A	is

(i) 1026.00	sq.cm (ii) 1196.00	sq.cm (iii) 846.00	sq.cm (iv) 1306.00	sq.cm (v) 896.00	sq.cm

6. If	the	length,	height	and	volume	of	a	cuboid	are	16.00	cm,	13.00	cm	and	2912.00	cu.cm	respectively,	its	T.S.A	is

(i) 1488.00	sq.cm (ii) 998.00	sq.cm (iii) 1228.00	sq.cm (iv) 1078.00	sq.cm (v) 1308.00	sq.cm

7. If	the	L.S.A	of	a	cube	is	784.00	sq.cm,	its	T.S.A	is

(i) 1026.00	sq.cm (ii) 1216.00	sq.cm (iii) 1416.00	sq.cm (iv) 1096.00	sq.cm (v) 1176.00	sq.cm

8. If	the	length,	breadth	and	L.S.A	of	a	cuboid	are	19.00	cm,	17.00	cm	and	864.00	sq.cm	respectively,	its	T.S.A	is

(i) 1650.00	sq.cm (ii) 1370.00	sq.cm (iii) 1740.00	sq.cm (iv) 1430.00	sq.cm (v) 1510.00	sq.cm



9. Find	the	volume	of	the	given	object	if	each	individual	cube	is	1	cu.cm

(i) 7	cu.cm (ii) 8	cu.cm (iii) 9	cu.cm (iv) 11	cu.cm (v) 10	cu.cm

10. If	the	breadth,	height	and	L.S.A	of	a	cuboid	are	12.00	cm,	8.00	cm	and	416.00	sq.cm	respectively,	its	volume	is

(i) 1274.00	cu.cm (ii) 1214.00	cu.cm (iii) 1344.00	cu.cm (iv) 1464.00	cu.cm (v) 1584.00	cu.cm

11. Find	the	volume	of	the	given	object	if	each	individual	cube	is	1	cu.cm

(i) 3	cu.cm (ii) 5	cu.cm (iii) 2	cu.cm (iv) 4	cu.cm (v) 6	cu.cm

12. If	the	volume	of	a	cube	is	5832.00	cu.cm,	its	T.S.A	is

(i) 1684.00	sq.cm (ii) 2094.00	sq.cm (iii) 2064.00	sq.cm (iv) 1884.00	sq.cm (v) 1944.00	sq.cm

13. If	the	breadth,	height	and	T.S.A	of	a	cuboid	are	7.00	cm,	12.00	cm	and	472.00	sq.cm	respectively,	its	L.S.A	is

(i) 360.00	sq.cm (ii) 365.00	sq.cm (iii) 384.00	sq.cm (iv) 346.00	sq.cm (v) 342.00	sq.cm



14. If	the	side	of	a	cube	is	9.00	cm,	its	T.S.A	is

(i) 461.00	sq.cm (ii) 503.00	sq.cm (iii) 469.00	sq.cm (iv) 486.00	sq.cm (v) 494.00	sq.cm

15. If	the	breadth,	height	and	volume	of	a	cuboid	are	7.00	cm,	15.00	cm	and	840.00	cu.cm	respectively,	its	length	is

(i) 9.00	cm (ii) 7.00	cm (iii) 8.00	cm (iv) 10.00	cm (v) 6.00	cm

16. If	the	breadth,	height	and	T.S.A	of	a	cuboid	are	11.00	cm,	15.00	cm	and	1266.00	sq.cm	respectively,	its	length	is

(i) 13.00	cm (ii) 23.00	cm (iii) 21.00	cm (iv) 18.00	cm (v) 15.00	cm

17. If	the	length,	breadth	and	height	of	a	cuboid	are	18.00	cm,	15.00	cm	and	19.00	cm	respectively,	its	T.S.A	is

(i) 1624.00	sq.cm (ii) 1794.00	sq.cm (iii) 1654.00	sq.cm (iv) 2064.00	sq.cm (v) 1914.00	sq.cm



18. If	the	breadth,	height	and	L.S.A	of	a	cuboid	are	7.00	cm,	5.00	cm	and	270.00	sq.cm	respectively,	its	length	is

(i) 23.00	cm (ii) 20.00	cm (iii) 15.00	cm (iv) 17.00	cm (v) 25.00	cm

19. Find	the	volume	of	the	given	object	if	each	individual	cube	is	1	cu.cm

(i) 30	cu.cm (ii) 29	cu.cm (iii) 28	cu.cm (iv) 32	cu.cm (v) 31	cu.cm

20. If	the	T.S.A	of	a	cube	is	1734.00	sq.cm,	its	L.S.A	is

(i) 1156.00	sq.cm (ii) 1426.00	sq.cm (iii) 1026.00	sq.cm (iv) 916.00	sq.cm (v) 1206.00	sq.cm

21. If	the	side	of	a	cube	is	15.00	cm,	its	volume	is

(i) 3515.00	cu.cm (ii) 3225.00	cu.cm (iii) 3255.00	cu.cm (iv) 3505.00	cu.cm (v) 3375.00	cu.cm



22. If	the	T.S.A	of	a	cube	is	294.00	sq.cm,	its	side	is

(i) 6.00	cm (ii) 7.00	cm (iii) 5.00	cm (iv) 9.00	cm (v) 8.00	cm

23. Find	the	volume	of	the	given	object	if	each	individual	cube	is	1	cu.cm

(i) 6	cu.cm (ii) 9	cu.cm (iii) 8	cu.cm (iv) 7	cu.cm (v) 5	cu.cm

24. If	the	length,	height	and	T.S.A	of	a	cuboid	are	18.00	cm,	9.00	cm	and	1134.00	sq.cm	respectively,	its	breadth	is

(i) 10.00	cm (ii) 20.00	cm (iii) 18.00	cm (iv) 15.00	cm (v) 12.00	cm

25. Find	the	volume	of	the	given	object	if	each	individual	cube	is	1	cu.cm

(i) 8	cu.cm (ii) 9	cu.cm (iii) 10	cu.cm (iv) 7	cu.cm (v) 6	cu.cm
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